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ALL PROBLEMS CAN BE COMPLETED ON THIS WORKSHEET
WS 15.1 -~ Word Problems Involving Linear Equations

Pre-Algebra B

Solve each problem. Remember to answer in complete sentences.
1. Alex has some quarters and $5.15 in nickels. If he has $7.90 total, how many quarters does he have?

| let o, = numbec of quarters Blex has 9,2 (l
= A dotal

$ inguarts + $ in nickels
0.254 + 515 : 140 Alex has
25¢ 4is. . -5.15 I quarhrs.
nvaber of guarlels Q254 = 215
L 0.25 025
- Find the number.

2. Twé%/e decreased by the guotient of a number and -2 is _1__

let n = the number

/0?-:"—-:15 ‘=”/,?+ =15
4 “[ o {3 &f)\e numbt(‘
D2 2.3
7 =3
3. An Internet service provider offers internet access for $15.75 per month with a $29.95 initial charge for the hookup. If
Glenda spent a total of $187.45 on her Internet access, how many months did she pay for?
let m = nomber of Meathg leda pafd for M= |0
5.76m + 2445 = %3.45 :
i 2.05 -31.45 Gleads paud for
_’_-i_:r)_s_ryl = i@ lD Months.
5.5 /575
4. 1f11.2 I:a;\s.t'lr:an the average of 5 numbers i_sﬁg,{what is the sum of the 5 numbers? T ]
\e+ S= Sum o{: the 5numbtr§ 5- = 33.95
sum of 4he 5 numbers sl e dd 38 ol ,Ml{'?s
/‘ 5 The Sum of he
overnde of | e T~ Snumbefs
5 fumbe('s 3 +112  +11.9 s 144,35,




5. Five times a number subtracted from 3 times the number is 20. Find the number

let n = Hhe pumber

3n-5n= 40 = .
i he number 1s -0,
7 =

n=-10

Aw -10

let w = width
7 P = n%{;(. . fhn w = 10 = 'engﬂ\

(add ol sides) P: wtwtdw-10 + dw-10

6. The length of a rectangular sign is 10 ft. less than twice its width. Find the length and width of the sign if its perimeter is 118 ft

181 éw = w=d3

Aw-10 1% = 6w -30 The width i's Q3+t
+70 +20 Aw-10 = 2(28)-Io = 36

The lenstly is 36 1.

1. The perimeters of the two rectangles shown are equal. F|nd the value of xand the perimeter of the rectangles

foctoe | = dxzl iy =t + e x + 2 4%

i ; 2x -1
5 |

“ox A 2+x| fectangle |
(oo, 2 = X+2 + 242 ¢ 242 £x+2

et - x+32
= L{x +3

x+2

Kectanale Cerimeters oy .6°f< Fdl = L{‘X-F‘Z r QS

are eyl dxdd - g

-2 -7 Xz 3 Reet 2 = 4(2)+9

P, fect | *é(ma Aon

3 &Jong ¢

8. The product of 3 and the sum of a number and 5, then added to 6 is the same as the product of -2 and 3 decreased
the number, then minus 5. Find the number.

let n = the pumber
-2(3-n)-5

n

Zln+5)+ 6

ber 45 =31,
3nil5 +h = - +In-5 The pumber 15 =3
N+l =dn- 1
“an -4n

N+l == ——b» n=-3l
X &t

: Qoﬁﬁl

Y




